Uses of Slide-A-Round Weight

	Kate bought 13 oz. of fudge. Then she went back and bought another 5 oz. How much did she buy in total?
○ 1 lb. 18 oz.
○ 18 oz.
○ 1 lb. 2 oz.
○ 8 oz. 
	One pound equals _______ ounces.  
○ 16 oz.
○ 18 oz.
○ 14 oz. 
○  15 oz.
	Terry has 2 pounds of tomatoes and wants to divide them among a total of 4 people. Approximately how much will each person get? 
○ 1 lb.
○ 2 lbs.
○ ½ lb.
○ ¾ lb.


	Bobby has 5 lbs. of potatoes; 8 oz. have ruined in the produce bin. How many pounds of potatoes will he have to cook for dinner?
○ 4 lbs. 8 oz.
○ 4 ½ lbs.
○ 4 lbs. 2 oz.
○ 5 lbs. 8 oz.
	2 lbs. – ¼ lb. =
○ 1 ¾ lbs.
○ 2 ¼ lbs.
○ 1 lb. 12 oz.
○ two answers are correct

	What amount is greater than ¾ of a pound?
○ 13 oz.
○ 10 oz.
○ 11 oz.
○ 12 oz. 
  

	½ lb. + ¼ lb. =
○ 1 lb.
○ 13 oz.
○ 11 oz.
○ ¾ lb.
	8 lbs. 15 oz. + 1 oz.=
○ 8 lbs. 16 oz.
○ 8 lbs. 14 oz.
○ 9 lbs.
○ 8 lbs.

	What amount is less than ½ of a pound?
○ 6 oz.
○ 7 oz.
○ 9 oz.
○ two answers are correct


	How many ounces are in 2 pounds?
○ 40
○ 32
○ 36
○ 48

	8 lbs. – 13 oz. =
○ 7 ½ lbs.
○ 8 lbs. 13 oz.
○ 7 lbs.
○ 7 lbs. 3 oz.

	2 lbs. 5 oz. – 8 oz. =
○ 1 lb. 13 oz.
○ 2 lbs. 13 oz.
○ 1 lb. 7 oz.
○ none of the above



